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1) (=8)x2+11 (2 4—10-+(—5)
(3) —124(—6)x(—2) (4) (—14)=7—3%(—1)
Xty FEEP4 K1 ERIARE
2 RDFHBEELRIWV,
(1) (—15)x (4—6) (2 —72+(=5+13)
(3) 3x(—6—(11—8)) (4) d—(=37x(=2)
(5) 56=(9—42) 6) —3+{30—2x(—50)
Xty FEEP4 K2 LRAAE
3 SHEEREIZFALT, ROFHEZ LRIV,
1 2 111
a>wx@_§> <$<Z—§+@x%
(3) Tx54+7x46 (4) (—62)x15+22x 15
Xty FEEP4 KR3 LRAAE
4 ROFEZLRIW,
(1) 2x42—(—6)F+4 @ (1—9P=(—4)—12
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3 b%%xig—04ﬁ7<§> (4) 1.2+(—0.3)—3.6x(—0.5)
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5 ROFHEZLZIW,
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6 RDFHEELRIW,
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(1) 484 (2) 3136
(3) 2025 (4) 2916
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1 ROADEFEEZ EL DRI,

(1) 4x2—3x+9+x2+2x—5

(@) —a?+6ab—3b2—5ab—b?+7a

(3) —2xy?+5y—3y*—5y+4y*+xy°
Xty FEEP6 K3 LRIARA
2 ROFEZLLIV,

(1) (224 5x—3)+(4x*—x+2)

(3) (x2—3x—8)—(242—4x+2)
Xty FEESP6 K4 LRIAR
3 ROFHEZLLIV,

(1) (Ba—b)+(a+4b)

(2) (x%+2xy—6y%)+ (22> —Txy+y?)

(3) (3a’—4ab+b?%—(a’+5ab—0?

(4) (ab+bc—3ca)—(4ab—3bc+ca)
Xty FES Q6 K2 LRAE
4 ROFEZLRIW,

1) 4x+2)+3(2x—1)

(3) 3(4a—3b)+ 2(—6a+5b)

B5) —42a—b—4)+3(a—9—2b)

7)) 592 —6)—(—6x+14)

Xty FEEP6 K5 ERIAR
5 ROFEZLLI,

(1) (a+3b)+22a—0>b)

(2) 22x—3y+1)—3(x+2y—3)

(3) 3(x%4+4xy—y?)+2(x2—5xy+2y?)
2
3
Xty FES Q6 K3 LRAE
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(2) (5a%*—2a+3)+(2a%—6a)
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@) —2dx—T)+6(x—3)
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(1) 3A—B (2) 20A—-2B)—(3A—17B)
Xty FEES Q6 K5 ERIAR
2 A=-3x+5y, B=2x—Ty 95, ROX%E x, y EHVTRLLZI,

(1) 3A+4B 2) %A—%B

(3) —3(4A—3B)—2(—2A+3B)
Xty FESR6 K2 LRINAE
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2 ROFEAEBEZIN,
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3 ROFEAEEE I,
(1) —3x=18
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1 ROFEAEHEI LI,
() 3x+7=-14
(3) 4x=42—-3x

Xty FEEP11 KB1 ERARE

2 ROFEAEHILI,
(1) 6x+13=2x-3
(3) 3x—10=—-5x+14

Xty FEEP11 KB2 LRARE

3 ROFEAEHLI LI,
(1) 3x—4=8
(3) 9x—6=6x+9
Xty FEEQ1 1 X1 LARE

4 ROFEREZMEIZI,
() 2(x+3)=5x+9
(3) 7—=3(5x—-2)=-17

Xty FEEP11 KB3 LRANE

5 ROFEAEMHILI,
(1) 28x—6)=6(2—x)
(3) 2(4x+5)=33x—3)—24

Xty FEEQ1 1 X2 LRANE
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1 ROFEAREHLILXWN,
1) %x+2=%x 2) %x=%x+7
5x—1 3x—2 7Tx—4 x+8
(3) 6 =4 (4) g = 3
1 5 4 x+3 1 x—9
B grmg =il O =37
Xty FESP11 K4 LRINA
2 ROFEREMELI,
X X X x—4
1) gH+1=%-3 2 z+2=-"3
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Xty FEEQ11 X3 LRNE
3 ROFEREMHELIWV,
1) 1.7x+1.6=0.9x (2) 0.05—0.14x=—0.37
(3) 2x—0.6=15x+24 4) 0.13x—0.7=0.3x—0.02
(5) 0.3(4x—1)=0.8x—2.3 6) 1.2x=0.087x—6)
Xty FEEP11 X5 LRAANE
4 ROFERNEHIILIW,
1) 07x—4=12x+3 (2) —0.06x+0.15=0.14x—0.05
(3) 0.3(0.1x+2)—0.5=0.04x 4) —0.1205x—1)+1=0.32x—0.2
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1 ROEIULFEAEEI LI,

y=x—1 ) 2x—y=-19
[x+2y=7 {x=—2y+3
¥ty FESP13 K1 LRANE
2 ROEIUFEAEMEILIN,
x—3y=1 x—=0oy=—7
Y {x—6y=4 @ {3x+5y=19
9x+2y=22
{—9x—8y=20
Xty FEEP13 K2 LRIAR
3 ROEIZHABAEMBEILIW,
1 x+5y=4 Sx+4y=—6
@ 3Ix—y=—4 {2x—y=8
3 bx—6y=—2 52 +3y=5
©) Tx—3y=—19 {3x—2y=—16
5 3x+5y=4 8x—13y=—4
© 4x—9y=21 {10x—7y=32
Xty FE S P13 K3 LRIAR
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1 ROEIUFEAEHEI LI,
y=6x—3(x+5) Tx—4y="17
{x—3y=13 {x+2(x—y)=5
Xty FEESP13 K4 LRIAR
2 ROEILHBREMBEILIWN,
—x+—5y=1
W ix v, @ (67797
2 4 8x+2y=3x+2
=3 o+l 15x—08y=—1.3
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1 4x—3y=-3
x=—-(y—2)
® ! W =Lt
6x—2y=—5 =%
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4 ROEILFEAEEE2IN,
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5x+9y=—3 rry=
9
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Xty FEE Q13 Xffl2 LARNAE
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Xty FEE Q13 X3 LRANE

6 ROEIFABRZEILIWV,
2x—5y «x—2y 1
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3x—2y—5—2(4x—5y)=0
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Xty FESR13 K2 LRINAE



tybES) S 111 AT AR P4 3%

1 ROFEREMILIWV,
1) 4x—3y=2x+y=10 (2) 7x+3y=5x+2y—1=—-5
(3) 6x—5y=Tx=5x—y—9

Xty rBEEP13 K6 ERAR

2 ROFEREZMEXRIN,
(1) x—2y=2x—8y=2 2) 4x+y=2x+%y=—1

(3) Sx—y=3x+2y4+4=-3 (4) 3x—y—13=2y=—6x+y—2
Xty rES Q13 K4 LERAR
3 ROABREMEXIRIW,

(1) 3x—6y=Tx+4y=27

2x+y-=3 1., . . 3
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1 ROE>BHORE, EXABRELEZLILNTEXS, ROBEILAERNEEI LI,
{7x—2y=8 5 {(x+2)1(y—1)=912
x:ty=2:3 dx4+3y=2
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2+ y+22="17 1+y=-2
1) {x+2y+3z2=9 2) {y+z=2
2x+4y+2=3 z+x=—6
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1 ROBIAIARFAREZEI LI,
1 3x—5<4 @ 8x—3<6x+5
x—4<2x {5x+9§9x+13
3 2x+6=>9x—8 (4 Tx+3>5x—7
3x—7<18—2«x ) {x—ng(Bx—S)
5 3x—6>2x—5 6 6x+7=2x—1
) 4x+5<x+2 (6) {4x+2£7x+8
Xty FEEP18 K1 LRAIAR
2 ROFEREMMILIV,
(1) 4x—5=<x+1<13—-3x (2) 7Tx—4<5x+6=<8x+12
Xty FESP18 K2 ERAARE
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(1) 2a(a—30) @) —2x(3x—5)

(3) (a+b—2¢)X(—d) (4) (3a%b+12ab? +3ad

(5) (az—|—4ab)+<—%> (6) (3x2—6xy+9x)+%x

Xty FEEP43 KB1 LERIAA

2 ROFBEZELZIW,
(1) —5x(x—2y+ 3xz) (2) (a?—6x+7)X(—2ay)

(3) (2lx—3x%y—9xz?) = 3x (4) (2a2+ab—4abc)+<—%>

Xty FEE Q43 A1 LEAAE

3 ROFHEZELRIW,
1) 24x2y3<%—y72+xy>
3 2 .\ ./ 3
@) <Za2b—§ab2>v<—§ab>
1 3
3) (0.125x4y3+1.25x3y4)+<—§xy>
2\ 9 8
(4) [2xx<—§xy> —(2xy)2+<§x>]+<—§xy2>
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1 ROXERFAL 7RI,
(1 (x+1)(y+6)
(3) (2x—3y)3x+5y)
(5) (a+2b+3)(a—2b+3)

Xty FEEP4 3 K2 LRAANE

2 ROAXZERELRIWV,
(1) (a—b)a—4b+1)
Xty FEE Q43 K2 LRAIAE

3 ROXZEFALZIW,
(1) (x=1)(x+3)
(3) (—2a+3b)?

(5) (x+5) (x—5)

Xty FEEP4 3 KH3 LRANA

4 ROAZBEALZIW,
1) (x+2)(2x+3)
(3) (ba—1)2a—3)

Xty hEEP4 3 K4 LRARNE

5 ROAZERELZIW,
(1) (x—6yXx—3y)

® (3a-732)
(5) <%a— b><%a+%b>
Xty FEE Q4 3 kM3 ERARE
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(a+4b—c)2a—b—3c)
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(3x—4y)?
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1 XOXzZEFALZRIW,
1) (a+b—c)p
(3) (a+3b+5(a+3b—4)
Xty FES P43 K5 ERAAR

2 ROXEZEFALZIW,

(1) (a=53%a+5)?

(3) (Bx+ y+22)3x+ y—22)
Xty FESP4 3 K7 LRANE

3 ROAZERALLIW,

(1) (Bx—2)3x+2)9x2+4)

(3) (a+1)a+5) a+2)a+4)
Xty bEE Q4 3 X4 LRARE

4 RORXERFEALZIWV,
(1) (a+2b+ 3c)a—2b+3c¢)
(3) 2x+y—z 22—y+2)
(5) (x+1)Ax*+1)4x—1)
Xty tESR4 3 X3 LERAE

(2) (Bx+ y+4z)?
4) (x—2y+3)(x—2y+5)

(2) (4x+3y)*(4x—3y)
(4) (a’+3ab+b%(a®—3ab+b?)

(2) (x=yla+ N2+ y2)(x'+ 57
(4) (x+1)(x—6)x—3)(x+4)

(2) (224 2x+1)(x%+2x+2)
4) 2x—1)Y2x+1)4x%2+1)
6) (x+1)(x+2)(x+3)(x+6)
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1 ROFHEZLZIW,
(1) (x4+3)(x—3)—(x+5(x—7) (2) (x+3yP+(2x+5y)(x—y)
Xty FEEP4 3 K6 LRANA

2 ROHEELEIV,
U 331y x+3) = e+ (02—
2) (5x—y+3)?2—(5x—y)5x— y+8)

_ 2 2
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4) (a+b+ca—b+c)—(a+b—c)a—b—c)
Xty bES Q4 3 XI5 LRAE

3 ROFHEELRIW,
1) (24294 (x+ y x—y)— (x4 2y)3x—2y)

(x—1)(x—4) (x—1)(x—4)—2

3) <x+1>2_ (x—=1)(x+2) «x

2 6 3

0 6ab(Eazp—Lapz)
(4) 5 3
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4 ROFEZLZI,

3__ 2
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2) (x+4y+1)(x+4y+3)—(x+4y)?

(3) (@a+b+c)i+(a+b—c)

4) (x=2)(x=8)(x+2)(x+8)— (x+4)*(x—4)
Xty FES R4 3 X4 LRAAE
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1 ROXEERESELIZI,
(1) 5xy*—10x%y (2) 6a’x?+8ax’—4a’x

Xty FEEP4 4 X1 LRARNE
2 ROXEEBARELRI,

(1) #*4+7x4+10

(3) a?—14a+49

(5) x2-281
Xty hEEP4 4 Kf2 LRARNE
3 ROXEEBAELIRI,

(1) 4x24+11x+6

(3) 6x*—x—15

(5) 3a’+20ab—"7b*
Xty hES P44 K3 LRAR
4 ROREFHBIELULIW,

(1) 2ax*—6ax—20a
3)

Xty FEEP4 4 KB4 LRAIAA
5 ROREEEHBULIW,

—a’b+ab?

1) —3x2yz—21xy%z+12xy
3)
5 x2—60xy+ 9002
7) 8la’—16b2
Xty FES Q4 4 K1 LEEANAE
6 RORZERBIMLLI,

(1) l4a*—ab—3b*

(3) xz+6x—yz—06y

(5) 4a?—36ab+81b2—64c?
Xty bEE Q4 4 X2 LRARE
T ROREEESFELIZI W,

(1) (x+2)y2—»°

(3) 4x(x—4)—34—1x)
Xty FEB R4 4 X1 LANE

(
(3) x2+5xy—84y?
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—
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9x24+6x+1
36x%—25a?

2x2—3x—5
dx’+ xy—3y2
4a%—4ab—15b2

16,
?bx

2y+6x2y+9xy

5a’x—

a®—3ab—40b2
2x2—6ax—36a?
64a?+48ab +9b?
75x%—12y2

1242 —29xy+15y?
xab—abd — xbc +bcd
(x—5y)*+3(x—5y)— 28

(@+b)Ab+c)—(a+b)b+c)?
4x(x—3y)—2y5y—x)
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(1) x*—625 2) 10000a*—b*

(3) x2—10x+25— y? (4) 4a?—9b2+42b— 49

Xty hrESP4 4 K5 LRAAR
2 ROXEEBSELIRI,

(1) (@a+2b)*—(a+2b)—6

(3) ac+bc+ad+bd
¥ty FESP4 4 K6 LRNE
3 ROAXEZEEDELRI,

(1) x*—625y*

(3) x*+2xy+ y2—13x—13y+42
Xty FEE Q4 4 X3 LRAE
4 ROREFHBIEELULI,

(1) (x%+6x)*+2x%+12x— 63
Xty brEE Q4 4 X4 LRARNE
5 ROAXEEEDELRI,

1) (x+1)(x+3)—8

(3) (3a—b)(4a—3b)—2b?
¥ty FESER4 4 K2 LEARE
6 ROAEEBOMELLI,

(1) x*=Tx%y2+12y*

(3) 4x*—13x2+9

(5) (x%45x)2—2(x%+5x)—24
¥ty FESR4 4 X3 LEARNE
T ROANEFBOEL LI,

(1) 3(x*—4)*—15x*+60

(3) x2—y24+2y—1
Xty bBEER4 4 K4 LEARE

(x—1)2—10(x—1)+25
ax—bx+ay—by+az—bz

a*—17a%+16

224 yi—2242xy+4z—4

(a—3)a—5)—15
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(2%+10x)2450(x%+ 10x) + 625

(@a—b)2—4ax+4bx+ 4x°
22 —2x— y24+2y
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(1) 1052 (2) 101x99
(3) 5552— 554X 556 (4) 995X 1003 —993 x 1005
Xty FEEP45 KB1 LRAE
2 ROFHEELRIW,
(1) 1992+ 1012 —992
(2) 2998 % 2997 + 3002 X 2993 — 6002 X 2996
5 122-2x%x12x44+ 42 3242%x3X6+ 62
&) 100 %5
Xty FEER45 K1 LRIAS
v &5 S 122 RDHEDFIH 1P% 2#B)

1 x=2,y:%y@gﬁ,u—ZMZwﬁﬁ—d%ﬂwﬁéﬁwﬁﬁwo

Xty FEEP45 K2 LRIAA

2 a=35 b=650D&X, a’+ab—5a—5b DEEZRDL IV,
Xty FEEP45 KE3 LRIAA

3 x=16, y=07 DX, 2*+4xy+4y* DEEZRDZ I,
Xty rES5 Q45 K1 ERAAR

4 x+y=5, xy=% Drx, P+y? OEERDEI,

Xty FEEP45 KB4 LRIAA
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1 ROE% a/b OWIZERLEI\, 2720, bIFTEXRR PN IVERKLE TS L,

0 V8 @ V98
3) VIO (4) VI8
(5) /32

Xty FEE P47 K1 LRARE
2 ROFEZLLIW,

(1) /35 x/14

(3) /20 +/500
Xty FEBE P47 K2 LAAE
3 ROFEEL, fERE Ja ORIRLEIW,

2) V12 x/18
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